
J.A.Z.

E.U.B.

J.Z.

SHEET NO. S47

FIELD SPLICE DETAILS

NOTES

J.Z.

1. Work this sheet with Sheets S42 thru S46 and S48

thru S50.

2. Load carrying components designated "NTR" shall

conform to the Impact Testing Requirement, Zone 2.

268

USER NAME =

PLOT SCALE =

PLOT DATE

REVISED -

-

-

-

REVISED

REVISED

REVISED

              

              

              

              

NO.
SECTION COUNTY

ILLINOIS FED. AID PROJECT

 507     

TOTAL

SHEETS

SHEET

NO.RTE.

STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION

DESIGNED -

-

-

-

CHECKED

DRAWN

CHECKED

     

 

 

  

 

 = 

h
:
\
j
o
b
s
2
0
1
0
\
2
0
1
0
3
0
0
3
\
c
a
d
\
s
t
r
u
c
t
u
r
a
l
\
d
g
n
\
0
4
5
-
0
0
3
9
_
f
i
n
a
l
\
0
0
\
D

1
6
0
I
3
3
-
s
0
4
7
-
f
l
d
-
s
p
l
c
-
d
t
.d

g
n

6
/1

4
/2

0
1

2
6

:0
7

:4
1

 P
M

F.A.P.

349 KANE(10 & 11VB) R-3

8501 W. Higgins Road; Suite 280 CONTRACT NO. 60I33
Chicago, Illinois 60631; (773) 399-0112

SHEET TITLE

SHEET NO. X

J.Z.

J.A.Z.

E.E.J.

J.J.G. OF 116 SHEETS

STRUCTURE NO. 045-0039

6/15/2012

6/15/2012

6/15/2012

6/15/2012

FLANGE SPLICE

WEB SPLICE

1
’-

0
’’

8
’’

2
’’

2
’’

1 1/2 ’’ 11 Spa. @ 3" = 2’-9’’

2’’2’’

11 Spa. @ 3" = 2’-9’’

 7/8 ’’ } Bolt, Typ.

~ Field Splice

~ Field Splice

 7/8 ’’ x 12’’ x 6’-1’’

Flange Splice Plate, NTR

Top Flange

   
1 3/4 ’’

typ.

2’’ 2’’

  

1 3/4 ’’

typ.

 7/8 ’’ x 12’’ x 6’-1’’

Flange Splice Plate, NTR

Bottom Flange

8
 S

p
a
. 

@
 3

 5
/8

 "
 c

ts
. 

=
 2

’
-
5

’
’

(Splices 1 thru 3)

FLANGE SPLICE

WEB SPLICE

11
 1

/2
 ’’

7 
1/

2 
’’

2
’’

2
’’

1 1/2 ’’

2’’2’’

 7/8 ’’ } Bolt, Typ.

~ Field Splice

 3/4 ’’ x 11 1/2 ’’ x 5’-1’’

Flange Splice Plate, NTR

Top Flange

   1 3/4 ’’

typ.

2’’ 2’’

  

1 3/4 ’’

typ.

 3/4 ’’ x 11 1/2 ’’ x 5’-1’’

Flange Splice Plate, NTR

Bottom Flange

7
 S

p
a
. 

@
 3

 3
/4

 "
 c

ts
. 

=
 2

’-
2

 1
/4

 ’
’

(Splices 4 thru 7)

2 Spa @ 3’’ cts. = 6’’

2 Spa @ 3’’ cts. = 6’’

9 Spa. @ 3" = 2’-3’’ 9 Spa. @ 3" = 2’-3’’

FLANGE SPLICE

1
’-

0
’’

5
’’

1 
1/

2 
’’

1 
1/

2 
’’

3 3/8 ’’

1 5/8 ’’ 1 5/8 ’’

~ Field Splice

 7/8 ’’ } Rivet, Typ.

2
’’

2
’’

8 Spa. @ 3" = 2’-0’’

Staggered opp. exist. rivets

8 Spa. @ 3" = 2’-0’’

Staggered opp. exist. rivets

2’-5’’

   

2’-5’’

   

1 7/8 ’’

  

1 7/8 ’’

  

 3/4 ’’ } Stud, Typ.

3 3/8 ’’ Shear Stud

Spacing

 3/4 ’’ } Stud, Typ.

5’’

    

5 Spa. @ 6" = 2’-6"

   

3 1/2 ’’

    

3 1/2 ’’

   

5 Spa. @ 6" = 2’-6"

   

5’’

 3’-2 1/2 ’’

  

3’-2 1/2 ’’

 

~ Field Splice

4 Spa. @ 6" = 2’-0"

   

3 1/2 ’’

    

3 1/2 ’’

   

4 Spa. @ 6" = 2’-0"

  

5’’

  

5’’

   

Shear Stud Spacing

at top splice plate

of top flange
2’-8 1/2 ’’

  

2’-8 1/2 ’’

  

EXISTING FIELD SPLICES - 36 W 182 & 36 W 150

FIELD SPLICES - W36 x 160 FIELD SPLICES - W33 x 130

Shear Stud Spacing

at top splice plate

of top flange

 3/4 ’’ } stud, Typ.

 1/2 ’’ x 19 1/2 ’’ x 2’-5 3/4 ’’

Web splice plate, NTR

(each side of web)

 7/8 ’’ } Bolt, Typ.

 7/8 ’’ } Bolt, Typ.

1 
3/

4 
’’

T
y

p
.

1 
3/

4 
’’

T
y

p
.

 1/2 ’’ x 19 1/2 ’’ x 2’-8’’

Web splice plate, NTR

(each side of web)

1 1/2 ’’ Top & Bottom Flange

3’’ 4 Spa. @ 6" = 2’-0’’ 3’’

1 1/2 ’’ Top & Bottom Flange

3’’ 3 Spa. @ 6" = 1’-6’’ 3’’
 1/4 " Max.

Opening

 1/4 " Max.

Opening

1 
1/

2 
’’

ty
p
.

1 
1/

2 
’’

ty
p
.


